4 Rahmenplatte

05.09.2024

Seite1/2



4 Rahmenplatte

Pos.

© 0 N o & W N P

=
= O

Seite 2/ 2

Artikelnr.
039287
089576
039288
037951
054035
039366
014761
018262
014859
014706

Bezeichnung

Rahmenplatte Vario-Silent
Exzenterwelle Vario-Silent ab 07/19
Motorflansch Vario-Silent
Gummipuffer @40x40 IGM8 Typ C
Passfeder 5x5x12 DIN 6885
Ausgleichscheibe Vario-Silent
Senkschraube M 8x25 DIN 7991 10.9
Zylinderschraube M 6x50 DIN 912
Schnorrscheibe M6

Kugellager 6008 2RS1 C3

Menge

[ N N N e = T S e R =

05.09.2024


http://www.tcpdf.org

